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QUESTION 1

Refer to the Exhibit. 

A storage administrator has an Isilon cluster with the following: 

Five S210 nodes Eight X200 nodes Eight NL400 nodes 

The cluster default protection level is set to N+2n and the administrator has configured the listed file pool policies. A
video capture station saves a new file to /ifs/content/project as intro.mov. 

Which node pool is the intro.mov file written to and which protection level is applied? 

A. NL400_Pool at N+3n protection 

B. S210 _Pool at N+2n protection 

C. X200_Pool at N+2n protection 

D. X200_Pool at N+3n protection 

Correct Answer: B 

 

QUESTION 2

Based on the command output shown in the exhibit, what does the "+" represent? 
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A. File has an advanced ACL on it 

B. File has a synthetic ACL on it 

C. File\\'s mode bits take precedence 

D. Root is a super user 

Correct Answer: A 

 

QUESTION 3

A storage administrator added three X410 nodes to an existing cluster with three X400 nodes. However, 

the administrator did not realize that a decision was made to update the InfiniBand back-end switches from 

DDR to QDR. 

Which type of cables must be used to connect the X400 nodes to the new switches? 

A. Hybrid (QSFP-to-CX4) 

B. IB (Cx4-to-CX4) 

C. QSFP (QSFP-to-QSFP) 

D. Ethernet (DB45 CAT-6) 

Correct Answer: A 

 

QUESTION 4

Which jobs are used to help distribute file data across an Isilon cluster? 

A. AutoBalance, AutoBalanceLin, FlexProtect, and SmartPools 
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B. AutoBalance, IntegrityScan, Multiscan, and ShadowStoreProtect 

C. IntegrityScan, TreeDelete, AutoBalance, and SetProtectPlus 

D. MediaScan, Collect, QuotaScan, and AVScan 

Correct Answer: A 

 

QUESTION 5

How is InsightIQ changed when FSA is enabled? 

A. When enabled, a Job runs on the cluster and collects InsightIQ data 

B. By default, it runs every hour and monitors cluster performance 

C. Enabled on a VM or physical server and helps plan SmartPools and file system use 

D. FSAnalyze queries results from the last InsightIQ run and populates file system reports 

Correct Answer: A 
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